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DLERE GBZ 3 48)
“BibWwE S (SOs: £MHE)
1 BEEN | 1RTHEN | BEREA
_ “ sMo | | EBEss
F |HMAME| £ F |0 lopnt | 0.0dppnt | THEE| | BT | G
8% B B % B ff | EiERRC | mitENc | OREE| ) 0.04ppmE | W;‘
5 084 084 " it LORE e
| (ppm) |(BERD|[ %) | (B) | (%) | (ppm) | (ppm) AEx - 80 | (BHO-#®EHx)
. R3 365 0. 000 0 0.0 0 0.0 10.018| 0.002 O O
th 2 5 R4 365 0. 001 0 0.0 0 0.0 (0.025| 0.003 O O
R5 364 0. 001 0 0.0 0 0.0 10.040| 0.003 O O
_ 5 e R3 364 0.000 0 0.0 0 0.0 10.020| 0.002 O O
z—
7 R B % R4 365 0. 001 0 0.0 0 0.0 1(0.021| 0.003 O O
R5 366 0. 001 0 0.0 0 0.0 10.039| 0.003 O O
— bz #HE (NO : FRHE)
& EMAE 1 B e {E FHEDO1B8EY
38 52 B FETE
5% B B & FEHTIR NESIE BED 98%1E
E (8) (BRI (p pm) (p pm) (p pm)
- R3 361 8, 681 0. 001 0.036 0.003
th 25 42 R4 364 8,718 0. 001 0. 046 0.004
R5 310 7,487 0. 001 0. 041 0.004
_ i R3 356 8,602 0. 001 0.082 0.007
A—BET
e R4 364 8,717 0. 001 0. 050 0. 005
R5 366 8,744 0. 001 0.043 0. 005




T E#HE (NOs : HFHMHE)

1RFYEN 1REHER FRD .
& 0. 06ppm % |0. O4ppm KLt| 1 BEFEIE | 1 BT REEE
. B E B FEHIE . o & D
B E B #ikA%L |0. 06ppm UT| DR =& E®D )
E EE NBHLT0FA 989% fE
(¥R (ppm) B) | G | ) | O (ppm) (ppm) | (EHO-KEHX)
R3 8, 681 0.007 0 [0.0] 0 (0.0 0. 041 0.014 @)
g$§ R4 8,718 0. 006 0 [0.0] O (0.0 0.039 0.015 @)
R5 7,487 0.006 0 (0.0 O (0.0 0.040 0.014 @)
_ .| R3 8,602 0.007 0 [0.0] 0 (0.0 0.048 0.014 @)
;;éi R4 8,711 0. 006 0 [0.0] 0 (0.0 0.035 0.016 @)
R5 8, 744 0.005 0 (0.0 O (0.0 0.032 0.014 @)
FERLIRME (S PM @ F[#1{H)
‘ \ BT
| I I I R
HHAEE | & F [0.20m/ m*|0. 10w/ m° 1 B o i
| am o |emeemae | e | O mo oy | o | EORR
BER . . B 1= 1B B 5t il 2 BULER | (REMEE)
E LECt0%-8
(B) (mg/m) | (BE) | (o) | (B) | (%) | (mg/m) | (mg/m) | (§x -8O) |(ERO-KERX)
R3 361 0.015 0 [(0.0] O |0.0| 0.069 0.031 O @)
iz?E R4 361 0.016 0 |0.0] 0 |0.0] 0.082 0.036 @) @)
R5 361 0.016 0 |00 0 |0.0] 0.103 0.035 (@) @)
_ | R3 358 0.013 0 [(0.0] O |0.0| 0.108 0.028 O @)
;;é; R4 361 0.014 0 [(0.0] O |0.0| 0.076 0.032 O @)
R5 362 0.014 0 |00 0 |0.0] 0.175 0.033 @) @)
R3 361 0.016 0 [0.0] O |0.0| 0.104 0.034 @) @)
i;g R4 361 0.016 0 |00 0 |0.0] 0.081 0.035 @) @)
R5 362 0.017 0 |00 0 |0.0] 0.711 0.037 @) @)
_ R3 361 0.016 1 0.0 O [0.0/| 0.296 0.033 @) @)
;$f§ R4 360 0.017 0 |0.0] 0 |0.0] 0.082 0.038 @) @)
R5 346 0.017 0 |00 O [0.0] 0.114 | 0.035 @) @)




WoNRLFIRmE (PM2. 5 4EH1H)
X HIEHIED EEHE
EMBE | £ F |RFLENS5. Ou/mi:| 1 BERIMED RO
Bl I ¥ fE gitencions | mEm | ohE £ DLR
> AAIC [ B S .
8 R i > (BT
E (B) (Lg/m) ) (%) (pg/m?) (ug/m3) (EHO - #Ef )
R3 361 11.4 0 0.0 68 26.3 O
W m™m
th 8 R4 361 11.3 4 1.1 100 28.9 O
R5 360 10.8 0 1.1 100 28.9 O
R3 361 9.8 0 0.0 92 22. 4 O
A E &
th 5 4 R4 358 10.0 1 0.6 78 25.9 O
R5 360 10. 6 1 0.3 108 25.7 O
= R3 357 10.4 0 0.0 204 24.72 O
giﬁ R4 357 10.1 2 0.6 82 25. 1 O
R5 349 10. 4 1 0.3 128 25.5 O
ik A X F b (0 x AR
. Eljli E‘ 'F_'E.l? BEO 1 BEEN BEN 1 H':'ffaiﬂﬁf)‘\\ R E D %ﬁsﬁo) H& T
Al B BITE | B 5 |0. O6ppm% | 0. 12ppmit| 1RFREIME | = 1 BREHE OB
Vi ] . X
= B& | B M | 8ALERCBRY | OBUCEEY NDESE | DEEHIE
=1 @ (E®) (B) | (@) | (B) | (&) (ppm) (ppm) (ERO - RERX)
. R3 365 5,466 72 367 0 0 0.107 0.048 X
s R4 | 361 | 5301 | 81 [ 419 | 0 | 0 0. 095 0. 049 x
R5 | 366 5,476 57 299 0 0 0.093 0.047 X
R3 365 5,461 55 285 0 0 0.103 0.045 X
22— 53 E
7 R g R4 | 365 5,463 50 258 0 0 0.094 0.044 X
R5 | 366 5,472 40 211 0 0 0.094 0.043 X
R3 365 5,459 73 430 0 0 0. 101 0.046 X
20 R4 | 365 5,456 71 398 0 0 0.099 0.048
. . X
=al=al SR :
R5 366 5, 456 66 324 0 0 0.094 0.047 X
— R3 365 5,466 80 426 0 0 0.109 0. 050 X
;_.u?ﬁ*ﬁ R4 | 365 5,461 71 378 0 0 0.088 0.048 X
R5 366 5,477 59 307 0 0 0.089 0.046 X

s
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@ H FifE

—EELVES (SO2: AMHEIE)

HARE : 2023F4 H ~202443H

BIE B BIEIEE 48 | 5B | 6B | 7B | 8A | 9A |10A |11A | 12B | 1A | 2B | 3R | B&t
W AR ARREBH 30 31 30 30 31 30 31 30 30 31 29 31| 364
I 7E BF 718 742 718 732 738| 718| 742 718 729| 741| 693| 742| 8731
4 (ppm) 0.001| 0.001| 0.001| 0.001 0 0 0| 0.001 0 0| 0.001 0
1BFFE AY0.1ppm % #B X T B 12K 0 0 0 0 0 0 0 0 0 0 0 0
1B EHEH0.04ppmZEE % 1- B K 0 0 0 0 0 0 0 0 0 0 0 0
185 ED &= B (ppm) 0.008| 0.04| 0.004| 0.013| 0.006| 0.009| 0.021| 0.013| 0.004| 0.007| 0.016| 0.008
1B EHED RS E(ppm) 0.002| 0.006| 0.002| 0.003| 0.001| 0.002| 0.003| 0.003 0.001| 0.002| 0.003| 0.002
Z—BHET7ABR|ERBIEBH 30 31 30 31 31 30 31 30 31 31 29 31] 366
B 7E BFFE 718 742 718 740| 739| 718| 742 714 733| 741| 693| 742| 8740
14 i (ppm) 0.001| 0.001 0| 0.001 0 0| 0.001| 0.001 0 0 0| 0.001
1B HY0.1ppmZ B Z 1= REfE 21 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEH0.04ppmE B Z 1- A%k 0 0 0 0 0 0 0 0 0 0 0 0
1B EE D RS E(ppm) 0.009| 0.039| 0.003| 0.014| 0.007| 0.007| 0.021| 0.008| 0.003| 0.004 0.013| 0.007
1B FEHED RS E(EPm) 0.002| 0.005| 0.001| 0.003| 0.002 0.001| 0.003| 0.003| 0.001| 0.001| 0.003| 0.003




— L= R (NO: ARHIE)

HARE : 2023F4 H ~202443H

BIE B BIEIEE 48 | 5B | 6B | 7B | 8A | 9A |10A |11A | 12B | 1A | 2B | 3R | B&t
W AR ARREBH 30 31 30 30 31| 1 7 30 29 31 29 31] 310
I 7E BF 718 742 718 735 739| 40 180 713| 726| 741 693| 742] 7487
T 1 {E(ppm) 0.001| 0.001| 0.001| 0.001| 0.001( 0.003 | 0.001| 0.001| 0.001| 0.002 0.001| 0.001
185 B D = B (ppm) 0.005( 0.005| 0.004| 0.005| 0.009| 0.008 | 0.005| 0.017| 0.028| 0.041| 0.019( 0.009
1B EHED &S E(ppm) 0.001| 0.002| 0.001| 0.001| 0.002( 0.004 | 0.001| 0.002 0.004| 0.005| 0.004| 0.002
Z—BHETABR|ERBIE B 30 31 30 31 31 30 31 30 31 31 29 31] 366
B 7E BFFE 718 742 718 741 739 718| 742 715 735| 741| 693| 742| 8744
T 1 {E (ppm) 0 0 0 0| 0.001| 0.001| 0.001| 0.001| 0.002| 0.003( 0.001| 0.001
185 B D &= B (ppm) 0.01| 0.006| 0.005( 0.007| 0.008| 0.014| 0.013| 0.021| 0.026| 0.043| 0.031| 0.012
1B EHED &S E(ppm) 0.002| 0.001| 0.002( 0.001| 0.002 0.005| 0.002| 0.003| 0.005| 0.007| 0.006| 0.002




— b= FR (NO2: ARME)

HAR: 202344 3 ~ 202443 A

BIER AIEIEE 4 | 5A | 6A | 7R | 8A | 9A |10A [11A[12A | 1A | 2R | 3R | &&t
W AR AANBIEBH 30 31 30 30 31 1 7 30 29 31 29 31] 310
B 7E B P 718| 742 718| 735 739 40 180 713| 726 741| 693 742| 7487
5B (ppm) 0.006| 0.005| 0.005| 0.003| 0.003[ 0.005| 0.006| 0.007| 0.009| 0.009| 0.008| 0.006
185 EE D &= = B (ppm) 0.02| 0.017[ 0.015/ 0.01| 0.011| 0.011 | 0.017| 0.029] 0.032| 0.04| 0.024| 0.025
1B EHEDRESE(PPm) 0.01| 0.008| 0.01| 0.007| 0.006| 0.006 | 0.008| 0.012| 0.015| 0.017 0.014| 0.011
1R AY0.20pm%Z #B % 1= B RS 3% 0 0 0 0 0 o0 0 0 0 0 0 0 0
1RSI H%0.1ppm A £0.2ppm EL T 0D B RS 24 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEH0.06ppmZEEZ A% 0 0 0 0 0 o0 0 0 0 0 0 0 0
1 B F 91 H%0.04ppm L E£0.06ppm EL T D B £ 0 0 0 0 0 0 0 0 0 0 0 0 0
A—BE7 AEMAEBH 30 31 30 31 31 30 31 30 31 31 29 31| 366
ABXK B 7€ BFfE 718 742 718 741| 739 718 742 715 735 741 693| 742| 8744
4B (ppm) 0.005| 0.004| 0.004| 0.002| 0.002| 0.003| 0.006| 0.007| 0.009| 0.009| 0.006]| 0.005
1B EE D &= = E(ppm) 0.022| 0.016| 0.015| 0.009| 0.011| 0.012| 0.025| 0.03| 0.03| 0.032 0.023| 0.022
1B FEHED&EBE(Ppm) 0.011| 0.007| 0.008| 0.005| 0.005| 0.007| 0.009| 0.012| 0.015| 0.017| 0.014| 0.009
1B HY0.20pm%Z #8 2 1= B E1 4K 0 0 0 0 0 0 0 0 0 0 0 0 0
1RSI 5%0.1ppm L £0.2ppm EL T (D B RS 4K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FEHEA0.06ppmZE B Z A% 0 0 0 0 0 0 0 0 0 0 0 0 0
1 B F91EH%0.04ppm L E£0.06ppm L T D H £ 0 0 0 0 0 0 0 0 0 0 0 0 0




ERERIEY(NOx: ARME)

HARE : 2023F4 H ~202443H

BIE B BIEIEE 48 | 5B | 6B | 7B | 8A | 9A |10A |11A |12B | 1A | 2B | 3R | B&&t
W AR ARREBH 30 31 30 30 31| 1 7 30 29 31 29 31] 310
I 7E BF 718 742 718 735 739| 40 180 713| 726| 741 693| 742] 7487
T 1 {E(ppm) 0.007| 0.006| 0.005| 0.004| 0.004( 0.008 | 0.007| 0.008| 0.01| 0.011| 0.009| 0.007
187 EE D & & E(ppm) 0.024| 0.02| 0.018| 0.014| 0.016/ 0.016 [ 0.021| 0.039| 0.048| 0.062| 0.043| 0.026
B EH{ED &S E(ppm) 0.011| 0.009| 0.011| 0.008| 0.007( 0.01 | 0.008| 0.014| 0.017| 0.021| 0.017| 0.013
BF{E NO2/(NO+NO2) (%) 91.4| 871 90| 838| 81.6| 606 | 91.4| 903 88 84| 87.7| 884
Z—BHETABR|EBIEBH 30 31 30 31 31 30 31 30 31 31 29 31] 366
B 7E BFFE 718 742 718 741 739| 718| 742 715 735| 741| 693| 742| 8744
T 1B (ppm) 0.005| 0.005| 0.004| 0.002| 0.003 0.004| 0.006| 0.008| 0.01| 0.012 0.008| 0.006
185 B D &= B (ppm) 0.032| 0.017| 0.018| 0.014| 0.015( 0.017| 0.026| 0.039| 0.04| 0.065| 0.054| 0.033
A B D &= BE(ppm) 0.012| 0.008| 0.01| 0.005| 0.006( 0.011| 0.01| 0.014| 0.019| 0.022 0.018| 0.011
BF#{E NO2/(NO+NO2) (%) 924| 926| 903| 802| 727| 793| 904| 87.7| 839| 783 829 899




FilER R E (SPM: AREIE)

HAR: 202344 3 ~ 202443 A

BIE R BIEIEE 48 | 58 | 6B | 7B | 88 | 98 |1w0A |11A |12 | 1B | 28 | 38 | &&t

R AR AxhAIE 30 31 30 28 31 30 31 30 29 31 29 31] 361
B 7E Bl 719 743 719 711|741 719 743 719 713 743 693 743] 8706
T {E(mg/m3) 0.02 0.017[ 0.017 0.017| 0.014] 0.016] 0.013| 0.016| 0.016| 0.015| 0.013| 0.013
1R AY0.20mg/m3% 8 Z - F 512K 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FHEAH0.10mg/m3% B A - H L 0 0 0 0 0 0 0 0 0 0 0 0 0
158 {E D &= = fB(mg/m3) 0.091| 0.072| 0.103| 0.101| 0.071| 0.066| 0.038| 0.044| 0.062| 0.058| 0.069| 0.038
1 B FEH{ED = {E(mg/m3) 0.041] 0.037] 0.035| 0.037| 0.028| 0.029]| 0.028]| 0.028]| 0.038]| 0.027| 0.039| 0.024

ZA—BETAZX |EMAEBE 30 31 30 29 31 30 31 30 29 31 29 31] 362
B 7 B 715 743|719 717 741 719] 743| 716 712| 743 694| 743] 8705
T 1B (mg/m3) 0.021| 0.016] 0.015] 0.016] 0.012| 0.013| 0.012| 0.014| 0.015| 0.013| 0.011| 0.013
1R AY0.20mg/m3% 8 Z - B 12K 1 0 0 0 0 0 0 0 0 0 0 0 0
1B FEH{EN0.10mg/m3% B2 - %k 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {E D &= = {B(mg/m3) 0.106] 0.175| 0.077| 0.081| 0.082| 0.052| 0.041| 0.047| 0.081| 0.056| 0.07| 0.058
1B FHED &S fB(meg/m3) 0.048] 0.037| 0.032| 0.033| 0.027| 0.025| 0.024| 0.027| 0.036] 0.027| 0.039] 0.025

HE A PER AXhAIE B 30 31 30 29 31 30 31 30 29 31 29 31] 362
I % B 719 742 720 713| 741 717| 743| 719 714| 742 694| 744] 8708
T {E(mg/m3) 0.024| 0.019] 0.019] 0.018| 0.014| 0.017| 0.016| 0.018| 0.017[ 0.015| 0.014| 0.016
1B HY0.20mg/m3% B A - BRIk 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FHEAH0.10mg/m3%Z B A =B 0 0 0 0 0 0 0 0 0 0 0 0 0
1B {E D &= = fB(mg/m3) 0.111] 0.097| 0.082| 0.045| 0.044| 0.055| 0.061| 0.052| 0.097| 0.071| 0.079| 0.051
1B EH{ED & E(mg/m3) 0.056| 0.048| 0.044| 0.032] 0.026] 0.025| 0.027| 0.031]| 0.032| 0.029]| 0.043| 0.027

=R AXhAIE B 30 31 30 26 19 30 31 30 29 31 28 31| 346
B 7E B R 719 743 7201 673| 454| 718| 743 718 714 743 690 744] 8379
1591 (mg/m3) 0.022| 0.018| 0.018[ 0.02| 0.016| 0.02| 0.016] 0.017[ 0.016| 0.015| 0.013| 0.015
1RSI AY0.20mg/m3% 8 Z - F 12K 0 0 0 5 6 0 0 0 0 0 0 0 11
1B FEH{EAY0.10mg/m3ZEZ B 0 0 0 0 0 0 0 0 0 0 0 0 0
1B D &= = fB(mg/m3) 0.114| 0.088| 0.061| 0.089| 0.062| 0.063| 0.074| 0.056| 0.086| 0.055| 0.064| 0.062
1B FEHED &S fiE(mg/m3) 0.049| 0.045| 0.035] 0.035| 0.037| 0.032| 0.031| 0.033| 0.035 0.027| 0.037| 0.024




MR IR E (PM2. 5: ARIE)

HARE : 2023F4 H ~202443H

BIER BIEEE 48 | 5A | 6A | 7A | 8A | 9A |1W0A |11A [(12R | 1A | 2A | 3B | &&t

R AR ADREBRH 30 31 30 28 30 30 31 30 31 29 29 31] 360
I 7E B 719| 742 718 712 738 719 743| 719| 743| 714| 693| 743] 8703
FHE( 1 g/m3) 13| 138| 126| 102| 81| 92 105 124 116 10| 87 9
1BEHEDRSME(©g/m3) 222 292| 293 234| 211| 158 233| 237 274| 192 337 178
1BEHEMN3S ug/m3ZBA-BH 0 0 0 0 0 0 0 0 0 0 0 0 0
1B FHEMN 35 1 g/m3ZE B A T-EE(%) 00/ 00| o00f 00/ 00/ o00f 00/ 00/ 00/ 00/ 00/ o00] 00
1R EEDREE(1 g/m3) 44 52 64 43 40 37 35 35 53 41 60 25

=HPER ADBEBH 30 31 30 29 31 27 22 30 30 29 29 31| 349
I 7€ BEFE 719 743| 719 718| 741| 687 576| 718 734| 713| 693| 743] 8504
FHE( 1 g/m3) 11.4| 104 96| 71| 56| 73 14 147 13| 11.4| 101| 108
1BEHEDRSME(©g/m3) 266| 224 24| 182| 136| 16.7| 284| 332 255 202| 363 22
1BFEHEMN3S 1 g/m3ZEEBZ-BH 0 0 0 0 0 0 0 0 0 1 0 1
1B EHS5 1 g/ m3FHB R -E|E& (%) 0 0 0 0 0 0 0 0 0 34 of 34
1R EEDREE(1 g/m3) 69 54 56 88 30 41| 128 48 69 45 64 36

AEALPER |BAHAEAH 30 31 30 29 31 28 31 30 31 29 29 31] 360
B 7€ B¥FE 719 742| 719 715 741| 692 743| 719 743| 711| 694| 743 8681
FH{E(u g/m3) 19| 115 112| 76| 56| 74| 126 14| 132| 119| 102| 102
1BESEOZREME(UL g/m3) 253| 292| 314| 186| 146| 173| 252 288 269| 26.1 42| 204
1HFEHEMN35 ug/m3ZEEBZ-AH 0 0 0 0 0 0 0 0 0 0 1 0 1
1B FHEM 35 1 g/m3ZE B -E|E(%) 00/ 00| o00f 00/ 00/ o00f 00/ 00/ 00/ 00/ 34/ o00] 34
1R EEDREE(1 g/m3) 51 69 72 38 31 63 62 51 108 67 87 30




FAEFEAFH R (Ox: ARME)

HARR : 2023448 ~20245% 38

BIE R BIEIEB 48 | 5A | 6A | 7TH | 8A | 9A |10AR |11RA |12B | 1B | 2B | 3R | &&t

W AR BREIDBIE B 30 31 30 31 31 30 31 30 31 31 29 31l 366
B[ D B 3E B T 3 450| 465| 450 458| 463| 450 465| 450 465 465| 430 465| 5476
BRED1E5HEED A FHE(pm) 0.043 0.045| 0.04| 0.03[ 0.027| 0.03| 0.038[ 0.031| 0.025| 0.025 0.029| 0.04
B D185 EEAY0.06ppmZE HE A 1= H 9 10 14 3 3 4 8 3 0 0 0 3| 57
B D18 EEHY0.06ppmZ 8 2 T- B 815K 48 86 82 10 8 9 30 5 0 0 0 21] 299
RS0 1EERSEAY0.12ppm L L D B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
B D 1EFRSEAY0.12ppm LA _E D BERE 2 0 0 0 0 0 0 0 0 0 0 0 0 0
B E D1 B EE D &% = {E(ppm) 0.074| 0.093| 0.084| 0.075| 0.076| 0.073| 0.068| 0.062| 0.054| 0.054| 0.055| 0.07
BRE D &= 1 B EE D F ¥ {E(ppm) 0.055| 0.059| 0.054| 0.041| 0.042 0.044| 0.054| 0.045| 0.037| 0.038| 0.04| 0.05

A—BETAEX |REIDBRIEBHK 30 31 30 31 31 30 31 30 31 31 29 31l 366
B[ D iR 7E B FE 2 449| 465| 450 464| 462| 450 465| 447| 465 465| 425 465 5472
BRED1E5HEED A F 5 {E(pm) 0.04| 0.041| 0.034| 0.023| 0.02| 0.026( 0.035| 0.03| 0.024| 0.025( 0.03| 0.039
RS 0D 1 B EEHN0.06ppmZE B Z - B %k 8 9 10 1 0 2 3 1 0 0 2 4 40
R D 1 B FEE HY0.06ppmZ 8 2 1= B RE1 51 24 71 58 6 0 5 10 1 0 0 11 251 211
B D1 EAY0.12ppm L E D B £ 0 0 0 0 0 0 0 0 0 0 0 0 0
B D18 EEHY0.12ppm LA L 0D BRI 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D185 E D £ = {E (ppm) 0.069| 0.086| 0.084| 0.07| 0.053| 0.07| 0.067| 0.061| 0.052| 0.052| 0.094| 0.071
B D &S 1FEED F{E(ppm) 0.053| 0.054| 0.048| 0.034 0.031| 0.039| 0.051| 0.044| 0.036| 0.037| 0.042| 0.05




FHALZAF A (Ox: AREIE)

HARR : 202354 H ~ 202443 H

BIE D HIEIE B 48 | 5B | 6B | 7R | 8B | 9A |10A [11A | 12B | 1B | 2R | 38 | &&t
=HPER BREDRIE B 30 31 30 31 31 30 31 30 31 31 29 31| 366
B[ 0D 3 7E B R 8 450| 465| 450| 464| 461| 450 465 449 465 465| 428| 465| 5477
BRED165EED B F#4{E(ppm) 0.043| 0.044| 0.038| 0.023| 0.021| 0.029| 0.038| 0.031| 0.025| 0.026( 0.029( 0.04
B D18 E{EH0.06ppmZ B Z =B 10 13 14 1 1 4 11 1 0 0 0 4 59
B D 1855 {E HY0.06ppmZ B Z 1= EF RS K 50 92 81 6 1 11 37 4 0 0 0 25 307
RS 01 8RS {E AY0.12ppm L £ D B % 0 0 0 0 0 0 0 0 0 0 0 0 0
RS 0 1B RS {E AY0.12ppm L £ D B RS 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D185 iE D 2= = {E (ppm) 0.074| 0.089| 0.082| 0.073| 0.061| 0.076| 0.072| 0.062| 0.054| 0.054| 0.059( 0.073
B D x5 1 B EME D T 19 B (ppm) 0.056| 0.058| 0.053| 0.033| 0.033| 0.044| 0.056| 0.046| 0.039| 0.039| 0.04| 0.052
HEAFER |BREOREBE 30 31 30 31 31 30 31 30 31 31 29 31| 366
281 0D 3 7E B R 8 450| 464| 450| 462| 462| 450 465 450 465| 465| 427| 464] 5474
BED185E{ED B F9{E(ppm) 0.046| 0.046| 0.038| 0.024| 0.02| 0.027| 0.039| 0.035[ 0.03| 0.029| 0.033| 0.035
RS D 18R {iEAY0.06ppmZE B Z - B K 16 13 12 4 0 2 12 3 0 1 1 2 66
RS D 1851 {iE 5Y0.06ppm% 48 2. 1= B RS 4 69 92 76 12 0 6 50 12 0 1 1 5| 324
RS 1B RS EAY0.12ppm L £ D B 31 0 0 0 0 0 0 0 0 0 0 0 0 0
RS D 1 B RS i HY0.12ppm A £ D B RS 3K 0 0 0 0 0 0 0 0 0 0 0 0 0
B D185 iE D 2= = {E (ppm) 0.076| 0.094| 0.085| 0.074| 0.059| 0.077| 0.077| 0.071| 0.058| 0.061| 0.07| 0.061
B D &5 1 B REE O F 9B (ppm) 0.059| 0.06| 0.054| 0.037| 0.032| 0.042| 0.056| 0.049| 0.042| 0.043| 0.044| 0.046




(2) AFRKIGGEIERS R (SN 5 SR 222 RIS THIE)

HEWE P E el P HAL
e/ ME N (Fa#HiE)
NP 0. 52 0.13 1.1 3 ug/m*
NURZA=2=E 5 N4 0.16 (<0. 0025) 0. 049 130 ug/m’
ThI/mnxzFLo 0. 043 0. 027 0. 68 200 wg/m’
TrmuAR 0. 54 0. 30 1.1 150 4 g/m
77 Vn=hkDL 0.014 (0. 004) 0.024 «2) wg/m’
ke = 1% /) ~— 0.0071 (0. 0012) 0. 22 (10) g/m’
A= R=i 1V 0.12 0. 08 0.14 (18 wg/m’
L,2-Y/nunxiy 0. 09 0. 03 0. 14 (1.6 ug/m?
IKER K O DALE W) 1.5 1.0 1.8 (40) ng/m*
= I ALEY L7 0.11 3.5 (25 ng/m’
b ELOZE (LAY 1.03 0.07 7.1 (6) ng/m’
1,3-7 4 vx 0.038 (0.0018) 0. 095 (2.5) wg/m’
~ A RO EY 14 3.0 22 «140) ng/m’
T N7 AT R 2.0 1.1 4.3 (120 e/
WAL A F v 1.1 0.9 1.3 (94) g/
7 v L ROZDIEEY) 2.86 0.21 5.6 ERETEES
Atz v 2MeEY 0.18 0.01 0. 56 EIETZEA
BT F Lo 0.071 0. 021 0.14 I 52
rLT 3.7 1.6 8.4 S B
RY Y7 AROEDO(LE 0.4 (0. 0005) 4.6 LR
~_uy [a] Ly 0. 141 0. 006 0.4 I 52
BRIVLET VT B R 3.1 1.6 5.4 R 2%

OWFhOWE b 12 [ OHE
KOE R T FRMEA R H P IRIELL i (Bf|) & &AL
el T BRAEA G 1 (<hRH FRRE) & 3KAD




